“‘Mwnple -CHoIeE iues "
Polymorphlsm

Questmns 1-10 refer to'the'r Ba.nkAccount SavangsAccount, and CheckingAccount
classes defined below

publlc class BankAccount
5 .

pr:wate ‘ c}oublg my

‘public BankAcdoumt)ifii= - o
{ mYBalance 7S TRE SRS

ble amount)
{ myBa.lance +=  amount; } T

public doublé gétRalants()
{ return myBajance; }

public class SavingsAccount :e;xtehds”ﬁa;idcqount
- private doublk

~ public Sava.pgsAEFQu.nt-(Ji_‘
{ :mpiementanon code }

" public SavingsAcgunt !dnﬁble baiance double rate)
1 implementation code - o

.:public vold add;[nterest.() .'
{ implementatiop o

.a" /Add interest to balance

ount exieh&é BankAccou.nt
private statzc flﬁél double FEE 2.0;
Private static f:l.nal double fHI*N _BALANCE = 50.0;

~public CheCklngAC”' un.t (double balance)
{. implementation code T

/* FEE of $2 deducted if w:Lthd;cawal leaves balance less
~ * than MIN_BALANCE. Allows for nega.tlve balance. */
publlc void w:.thdraw(double amount)

{ implementation code }




4 Which is 2 correc 'mplemen tion

" I
“—-5‘14'4!« .

I super (balance)

Sh e ‘-‘%’nu!
lI, supem()‘ R R T
deposn (balance) H

f the CheckingAccount constructor?




5. Which is correct implementation code for the withdraw method in the
ChecklngAccount classy

(A) super. w1thdraw(a.mount)
if (myBalance € MIN: BALANCE)
Super . withdraw (FEE) ;

e T e R R A I S e

(B) withdraw(amount);
if (myBalance < MIN_BALANCE)
withdraw(FEE) ;

[

{(C) super.withdraw(amount);
if (getBalance() <MIN BALANCE)
s_gper ._jn_n_thdraw(FEE) H
(D) withdraw(amount);
if (getBalance() < MIN_BALANCE)
withdraw(FEE) ;. '
(E) myBalance -= amount;
if .(myBalance < MIN_BALANCE)
myBalahice —= FEE; ~ 77

6. Redefining the withdrav method in the CheckingAccount class is an example
of U IR
(A) Method overloading.
(B) Method overriding.
©) Downcasting
(D) Dynamic binding (late bmdmg)
(E) "Static binding (early binding).

Use the following for Questions 7-9.
A program to test the BankAccount, Sav1ngsAccount and CheckingAccount classes
has these declarations:

Ba.nkAccount b
BankAccount s
BankAccount ¢

H

new BankAccount (1400) ;
new Savingskccount (1000, 0.04);
new CheckinghAccount(500);

7. Which method call will cause an error?
(A) b.deposit(200);

(B) =.withdraw(500);
{C} c.withdraw(500);
(D) s.deposit (10000);
(E) s.addInterest();

8. In order to test polymorphism, which method must be used in the program?
(A) Either a SavingsAccount constructor or a CheckingAccount constructor
(B) addInterest
(C) deposit

e (D) withdraw

(E) getBalance
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9. Which of the following will not cause a ClassCastException to be thrown?
{A) ((SavingsAccount) b) . addInterest();
(B) ((CheckingAccount) b) .withdraw(200);
() ((Checkingﬁccbﬁnt) c) .deposit (800);
™) ((Checkinghccount) s) .withdraw(150);
(E) {(SavingsAccount) ¢) .addInterest();

10. A new method is added to the BankAccount class,

/+ Transfer amount from this BankAccount to another BankAccount.
# Preconditicn: myBalance > amount */
public void transfer (BankAccount another, double amount)
< :
vithdraw{amount};
another .deposit{amount);

¥

A program has these declarations:

BankAccount b = new BankAccount (650) ;
SavingsAccount timsSavings = new SavingsAccount(lSOO, 0.03);
Checkinghccount daynasChecking = new CheckingAccount(QOOO);

Which of the following will transfer money from one account to another with-
-out error?

I_b.transfer(timsSavings, 50);
il timssavihgs.transfer(daynasChecking, 30);
1 dayn&éﬂhacking.tiansfer(b, 55);

(A) Tonly
(B) Wonly
(C) Monly
(D) L1, and II
(B) Noné




